ANOVA calculations for Table 10.1
Response:  Distance golf ball travels (in yards)

Treatments:  Four different brands of ball

Sample means for each group:
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257.7775.

Sample sizes for each group:
n1 = 10, n2 = 10, n3 = 10, n4 = 10, n = 40.

Sample variances for each group:

s12 = 22.42, s22 = 14.95, s32 = 20.26, s42 = 27.07.

SST = 10 (250.78 – 257.7775)2 + 10 (261.06 – 257.7775)2 + 10 (269.95 – 257.7775)2 + 10 (249.32 – 257.7775)2 = 2794.4.

SSE = 9 (22.42) + 9 (14.95) + 9 (20.26) + 9 (27.07) = 762.3.

p – 1 = 3,   n – p = 40 – 4 = 36.

MST = 2794.4 / 3 = 931.5.

MSE = 762.3 / 36 = 21.175.

F = 931.5 / 21.175 = 43.99
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